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All questions carry equal marks.

Only one answer is to be given for each question. If more than
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Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
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for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only ome circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9.  If you are not attempting a question then you have to darken
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question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
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In which year the Prevention of
Corruption Act was passed ?

(1) - 1987 (2) 1989
(3) 1990 (4) 1988
(6) Question not attempted

Who is the author of the book
‘Regional Sociology’ ?

(1) R.K. Mukerjee

(2) D.P. Mukerjee

(3) A.R. Desai

(4) A. Beteille z

(5) Question not attempted

Which of these is. not a.
characteristic of communalism ?

(1) Religious dogmatism
(2) Feeling of cooperation
(3) Feeling of superiority
(4) Feeling of alienation

(6) Question not attempted

Who among the following has
recommended intercaste marriage

~ as a key measure to dismantle the

caste system in India ?

(1) P.H. Prabhu

(2) M.S.A. Rao

(3) B.R. Ambedkar

(4) K.M. Pannikar

(5) Question not attempted

Who has said that civilizations,
particularly Western civilizations,
follow a cyclical pattern of rise and
fall ?

(1) Spengler (2) Spencer
(3) Morgan (4) Ogburn

(56) Question not attempted

Marriage of higher Varna girl with
lower Varna boy is known as

(1) Hypogamy (2) Hypergamy
(3) Endogamy (4) Exogamy
(5) Question not attempted
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Which of the following is a factor
that contributes to social change ?
(1) Stability (2) Tradition
(8) Conformity (4) Conflict

(6) Question not attempted

“In its basic sense, social change
means change in social structure.”
Who has said so ?

(1) T.B. Bottomore

(2) Maclver & Page

(3) Ram Ahuyja

(4) H.M. Johnson

(5) Question not attempted

Who has written the book ‘Social
Change in Modern India’ ?

(1) G.S. Ghurye

(2) L. Dumont

(83) M.N. Srinivas

(4) M. Marriott

(5) Question not attempted

“Every institution is an ‘Idea’ in

its initial stage.” Who has said so ?
(1) Sumner (2) Coser
(3) Dahrendorf (4) Durkheim

(5) Question not attempted

Which of these is not a

characteristic of institution ?

(1) Institution is a system of
rules and procedures.

(2) Institution is abstract.

(3) Institution has its own
symbol.

(4) Institution is a collection of
individuals.

(5) Question not attempted

Which is not an Institution among
the following ? :

(1) College (2) Village

(3) Church (4) Marriage
(5) Question not attempted

Who among the following is not
associated with the cyclical theory
of social change ?

(1) A.Toynbee (2) O. Spengler
(8) P.A. Sorokin(4) T. Parsons
(6) Question not attempted
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14.

15.

16.
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18.

19.

There are two statements given

below. On the basis of that select

right answer.

A. Association gives emphas1s to
personal interest or welfare.

B. Institution gives emphasis to

group welfare.

A is right, B is wrong.

B is right, A is wrong.

Both A and B are wrong.

Both A and B are right.

Question not attempted

Which one of these is not a
characteristic of association ? 2

(1) Definite aims

(2) Informal relationship

(3) Temporary nature

(4) Deliberately formed

(5) Question not attéempted

According to Kingsley Davis, which
can be treated as “Grand
Association” ? i,

(1) Family

(2) Political party

(8) State

(4) Business assoc1ati0n

(5) Question not attempted

Which of the following
example of association ?

18 an

(1) Law (2) Marriage
(3) Religion (4) Club
(56) Question not attempted

Who is associated with the concept
of the “Cultural Lag” ?

(1) Kingsley Davis

(2) William Ogburn

(3) Oswald Spengler

(4) Arnold Toynbee

(5) Question not attempted

What is defined by Maclver and
Page as the established forms
or conditions of procedure
characteristic of group activity ?
(1) Institutions
(2) Associations
(3) Values
(4) Socialization
(5) Question not attempted
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(2)

(5

Clark Wissler has pointed out hew
many cultural facts in all societies ?
(1) 12 2 09

(3) 10 4y, 115

(5) Question not attempted

Who gave the concept of ‘Cultural
Reproduction”™?

(1) O. Lewis

(2) Pierre Bourdieu

(8) Leslie White

(4) Tylor

(5) Question not attempted

Which one of these is not a
supporter of scientific orientation
to sociology ?

(1) Auguste Comte

(2) Durkheim

(3) Peter Berger

(4) Talcott Parsons

(5) Question not attempted

Who is the author of the book
‘Sociological Imagination’ ?

(1) Peter Berger

(2) C. Wright Mills

(3) Herbert Blumer

(4) Howard S. Becker

(6) Question not attempted

According to Parsons, which type
of patterns can be seen in the
structure of “Industrial Societies” ?
(1) Universalistic — Achieved pattern
Universalistic — Ascribed pattern
Particularistic — Achieved pattern
Particularistic — Ascribed pattern
Question not attempted

3)
4
(5)

Family, marriage,
education, games etc.
examples of

(1) Cultural change

(2) Cultural value

(3) Culture complex
(4) Cultural diversity
Question not attempted

religion,
are the
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“Status is the place in a particular
system, which a certain individual
occupies at a particular time.” Who
has defined this statement ?

(1) G.H. Mead

(2) T.M. Newcomb

(3) Robert Bierstadt

(4) Ralph Linton

(5) Question not attempted

Who has classified
Achieved and Ascribed ?
(1) Daniel Bell

(2) David Hardeman
(3) Ralph Linton

(4) Vilfredo Pareto

(5) Question not attempted

status as

Which of the following concept
implies that each social status
involves an array of roles ?

(1) Role-Set

(2) Role-Playing

(3) Role-Perception

(4) Actual Role

(5) Question not attempted

Who wrote the book ‘Foundation of
Modern Sociology’ ?

(1) Ralph Linton

(2) Meta Spencer

(3) R.K.Merton

(4) Elliott and Merrill

(5) Question not attempted

Who has said that “role is a cultural
element connected with behaviour” ?
(1) H. Turner

(2) Kingsley Davis

(8) G.H.Mead

(4) Ralph Linton

(6) Question not attempted

Which among the following has
propounded structure as web of
social power interactions ?

(1) Max Weber

(2) Karl Marx

(3) Karl Mannheim

(4) Herbert Spencer

(5) Question not attempted
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33.
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317.

What  is
Criminals ?
(1) Socialization

(2) Desocialization

(3)  Resocialization

(4) Anticipatory socialization
(56) Question not attempted

Rehabilitation of

The process by which a person
learns social norms is called

(1) Socialization

(2) Sanskritization

(8) Looking glass self

(4) Self-perception

(5) Question not attempted

Freud’s ‘Id’ is related to which
aspect ?

(1) Reason

(2) Hostility

(3) Punishment

(4) Basic instincts

(6) Question not attempted

Anticipatory socialization

which group members ?

(1) In-group members only

(2) Non-group members only

(3) Primary-group members only

(4) Secondary-group members
only

(5) Question not attempted

Social control is not needed

(1) For social solidarity

(2) For prevention of -cultural
maladjustment

(8) To control the conflict of
values :

(4) To establish one’s identity as
an authority

(6) Question not attempted

Who has authored “Over-Socialized

Conception of Man” ?

(1) K. Danziger

(2) R.Dahrendorf

(8) I. Crewe

(4) D.H. Wrong
(5) Question not attempted

is for
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Which of the following is a non-
institutional means of social
control ?

(1) Religion

(2) Education

(3) «Government

(4) “Social suggestions

(56) ' Question not attempted

Which of the following is not a

function of social control ?

(1) Control over individual
behaviour

(2) Maintain social heterogeneity

(3) Maintain social security

Protection of traditions

Question not attempted

®)

Which among the following is not
the basic type of informal control
listed by Crosbie ?

(1) « Redefining norms

(2) "Punishment

(3) Social rewards

(4) Religion

(5) Question not attempted

In which of the following systems
is a person, by law and custom,
regarded as the property of
another; he is wholly without
rights; and may be protected as an
ox or-an ass ?

(1) Slavery (2) Estates

(3) Caste (4) Class

(5) Question not attempted

Who among the following is
associated with the structuralism
approach of social stratification ?
David Martin

Louis Dumont

Mckim Marriott

V.S. D’Souza

Question not attempted

According to Maclver and Page,
what are ‘the recognized or
accepted ways of behaving in

society’ ?

(1) Values (2) Rules
(3) Folkways (4) Sanctions
(5) Question not attempted
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44.
|

45.

46.

47.

48.

Which of the following sociologists
is associated with status theory of
social stratification ?

(1) Max Weber

(2) Karl Marx

(3) Warner

(4) Davis & Moore

(5) Question not attempted

Which among these types of social

stratification @ has not been
mentioned by Bottomore ?

(1) Caste (2) Slavery

(3) Power (4) Social class

(6) Question not attempted

Co-operation found in industry and
trade union lies in which of the
following category ?

(1) Primary co-operation

(2) Secondary co-operation

(8) Tertiary co-operation

(4) Personal co-operation

(5) Question not attempted

Who is the author of the book ‘The
Functions of Social Conflict’ ?

(1) Lewis Coser

(2) George Simmel

(8) dJessie Bernard

(4) T.B. Bottomore ,

(5) Question not attempted

Who has said, “it seems that there
must always be an element of
conflict in our relations with others
as well as one of mutual aid; the
whole plan of life calls for it; our
very physiognomy reflects it and
love and strife sit side by side upon
the brow of man” ?

(1) C.H. Cooley

(2) Maclver and Page

(3) Gillin and Gillin

(4) Hobhouse

(5) Question not attempted

Which
indicator
system ?
(1) Ethnicity (2) Caste
(8) Class (4) Religion
(5) Question not attempted

of the following is an
of open stratification

-
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Identify the correct combination of
characteristics of Tarwad family.

It is a matrilineal joint family.
It is a patrilineal joint family.
It is found in the Nairs of
Malabar.

Property of Tarwad belongs to
women only.

Karnwan is the manager of
Tarwad’s property.

When the size of Tarwad gets
bigger then it is divided into
‘Tawaji’.

(1) 1,3,4&5o0nly

2 1,3,5&6o0nly

3) 1,3,4&6o0nly

(4) 1,3,4,5 & 6 only

(5) Question not attempted

Murdock, while discussing the
categories of  kinship, has
mentioned the number of relatives
in each kinship category. What are
the correct numbers ?

L S R o R s

Categories
Primary Secondary Tertiary
(1) 8 35 150
(2) 10 33 153
3) 9 34 152
(4) 8 33 151

(5) Question not attempted

Due to whose efforts the Hindu

Widow Remarriage Act was passed

in 1856 in India ?

(1) Dayanand Saraswati and
. Ramakrishna Paramhansa

(2) dJyotiba Phule and Atmaram

: Pandurang

(3) Raja Ram Mohan Roy and
Ishvarchandra Vidyasagar

(4) Govind Ranade and B.R.
Ambedkar

(5) Question not attempted

Who said that kinship is simply
the relations between ‘kin’ that is
person related by real, putative or
fictive consanguinity ?

(1) Aberchrombie

(2) Robin Fox

(3) Radecliffe Brown

(4) Nimkoff

(5) Question not attempted
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55.

56.

57.

58.
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54.

55.

56.

57.

58.

Who proposed to create ‘National
Park’ to protect tribal cultures
from external influences ?

(1) .-G.S. Ghurye -

(2) ““A.R. Desai

(3) N.K. Bose

(4) Verrier Elwin

(5) Question not attempted

In which year Sharda Act was
passed ?

(1) ..1929 (2) 1935

(3) 21939 (4) 1942

(5) -~Question not attempted

Which of the following is not
correct option ?

(1) 1946 - Bhore Committee
Report
(2) 1952 - Family Planning

Programme launched

(3) 1976 — Statement of National
Population Policy

(4) .-1981 — Limiting the Number
of Children in family to two

(5) ' Question not attempted

What was the sex ratio in India as
per the Census of 2011 ?

(1) 943 females per 1000 males
(2) 953 females per 1000 males
(3) ..963 females per 1000 males
(4) <973 females per 1000 males
(5) .- Question not attempted

Which among the following is not a
social problem for scheduled castes
in India ?
(1) Untouchability
(2) Equality before law
(3) Poverty
(4) Educational backwardness
(5) Question not attempted
o
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59.

60.

61.

62.

63.

What is the approximate average
population density of India, as per
Census of 2011 ?

(1) 200 persons per square
kilometer

(2) 382 persons per square
kilometer

(3) 400 persons = per ' square
kilometer :

(4) 474 persons per square

; kilometer

(5) Question not attempted

“Differential Association Theory of
Crime” was given by whom ?

(1) George Ritzer

(2) Howard Becker

(3) Edwin Sutherland

(4) Lombroso

(5) Question not attempted

Regarding Deviance, which of the
following motivational factor was
not discussed by Robert Merton ?
(1) Social (2) Religious
(3) Individual (4) Cultural

(6) Question not attempted

Who has said that the “Purpose of
knowledge is to solve problems” ?
(1) John Dewey

(2) P.V.Young

(3) David Easton

(4) Kettinger and Katz

(56) Question not attempted

Which of the following is true
about the average annual birth
rate in India ?

(1) Was 40 per thousand in
1951-61 which decreased to
20.11 per thousand in 2011.

(2) Was 42 per thousand in
1951-61 which decreased to
24.8 per thousand in 2011.

(3) Was 35.42 per thousand in
1951-61 which decreased to
23.82 per thousand in 2011.

(4) Was 32.52 per thousand in
1951-61 which decreased to
21.80 per thousand in 2011.

(5) Question not attempted
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64.

65.

66.

67.

68.

Who has defined social research as a
scientific undertaking which, by
means of logical and systematized
techniques, aims to : (1) discover new
facts or verify and test old facts; (2)
analyse their sequences,
interrelationships and causal
explanations which were derived
within an appropriate theoretical
frame of reference; (3) develop new
scientific tools, concepts and theories
which would facilitate reliable and
valid study of human behaviour ?

(1) P.V.Young

(2) E.S. Bogardus

(3) Goode and Hatt

(4) Karl Pearson

(6) Question not attempted

Which of these is not a type of
probability sampling ?

(1) Random sampling

(2) Purposive sampling

(3) Restricted random sampling
(4) Area sampling

(5) Question not attempted

The determination of the universe
does not depend on which of the
following ?

(1) Subject matter

(2) Limitation

(3) Time

(4) Desired exactness

(5) Question not attempted

Black and Champion did not state’

which condition in

probability sampling ?

(1) Equal opportunity to get
selected to each unit

(2)  Certainty of expected sample size

(3) Complete knowledge of the
definition and size of the universe

(4) Knowledge of variables of the
study

(5) Question not attempted

using

Who has emphasized on the use of
logical and systematic methods in
social research ?

(1) E.Fromm (2) D.Hume
(3) P.V.Young (4) J.William
(5) Question not attempted
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69.

70.

71.

72.

73.

Which method was wused by
Goldthorpe and Lockwood in their
‘affluent worker study’ ?

(1) Observation

(2) Interview

(8) Schedule

(4) Questionnaires

(5) Question not attempted

Which type of questions are needed
when every question need not to be
relevant to all respondents ?

(1) Dichotomous questions
(2) Leading questions

(3) Contingency questions
(4) Matrix questions

(5) Question not attempted

Which of the following process does
not occur in observation method ?

(1) Sensation

(2) Concentration

(3) Manipulation

(4) Perception

(5) Question not attempted

Which of the following interview
method is useful for data collection
to investigate bribery pattern in an

office ?

(1) Direct personal interview
(2) Indirect personal interview
(38) Structured interview

(4) Unstructured interview

(5) = Question not attempted

Which of the following statement is

not correct ?

(1) Observation make it possible to
record behaviour as it occurs.

(2) It help to deal with subjects
who are not able to give
verbal reports.

(3) Itisindependent of a subject’s
willingness to report.

(4) Observational data can be
codified.

(5) Question not attempted
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75.

76.

71.

78.

Which of the following is not a

characteristic of a  scientific

hypothesis ?

(1) Clarity

(2) Specificity

(3) - Value-driven

(4) Testable with available
methods

(5) Question not attempted

Which of the following hypothesis
is used to minimize the size of
research ?

(1) Null hypothesis

(2) Working hypothesis

(3) Relational hypothesis

(4) Descriptive hypothesis

(5) Question not attempted

According to Herbert Spencer,
what is the pattern of evolution ?
(1) Multilinear (2) Bilinear

(3) Diffusion (4) Unilinear
(5) Question not attempted

In which book had Spencer
propounded the evolutionary theory ?
(1) Principles of Sociology

(2) First principles

(3) Principles of Biology

(4) Social statics

(5) Question not attempted

Choose the correct sequence of “law

of three stages of human progress”

given by Auguste Comte :

(1) Metaphysical, Theological,
Positivistic

(2) Theological, Metaphysical,
Positivistic

(3) Positivistic, Metaphysical,
Theological

(4) Theological, Positivistic,
Metaphysical

(5) Question not attempted

Who said “A hypothesis is a

proposition to be tested” ?

(1) Lundberg

(2) P.V.Young

(3) M.H. Gopal

(4) Bogardus
(5)  Question not attempted
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83.

Which of the following statements

does not fit in the explanation of

suicide given by Durkheim ?

(1) Poverty protects  against
suicide because it 1i1s a
restraint in itself.

(2) Durkheim accepted  the
popular conception which
attributes military suicide to
the hardships of military life.

(3) He showed that suicide was
not simply an individual act
but a product of social forces
external to the individual.

(4) He found that stronger the

forces throwing the
individuals -on their own
resources, the greater the

suicide rate in the society.
(5) Question not attempted

According to Durkheim, which type
of suicide is committed due to the
pressure of society ? '

(1) Egoistic suicide

(2) Altruistic suicide

(3) Anomic suicide

(4) Fatalistic suicide

(5) Question not attempted

‘When social facts are not
subjective and are external to
individual from all sides, this puts
pressure on
individual’s behaviour.’ This fact
shows which of the following
characteristics ?

(1) Exteriority

(2) Super individual

(8) Universality

(4) Constraint

(5) Question not attempted

Which of these has considered
‘society as an organism’ ?
(1) Darwin (2) Comte
(3) Weber (4) Spencer
(5) Question not attempted
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Approaches given by Durkheim in
his book ‘The Rules of Sociological
Method’ is used in which of his
another book ?

(1) The Division of Labour in
Society

(2) Suicide

(3)-"' Primitive Classification

(4).. The Elementary Forms of the

Religious Life

(5) Question not attempted

Which of the following concepts
has Max Weber used to study

. human behaviour ?

(1) Authority

(2)Social action

(3)--'Ideal type

(4) — Verstehen
(5).©'Question not attempted

Lewis Coser has classified the
ideal types created by Max Weber
into three types. Which one is not
correct ?

(1) Ideal types based on
Historical specificities

(2)- Ideal types based on Political
phenomena

(3) - Ideal types related to Social
reality

(4) Ideal types related to
Rational behaviour

(6) Question not attempted

Which of the following

characteristics of social facts has

not been mentioned by Durkheim ?

(1) They are external to the
individuals. .

(2) They have distinctive social

characteristics and

determinants.

They do not endure through

time more than any group of

individuals. ]

They have coercive power

over individuals.

Question not attempted
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Which of the following is not a

characteristics of Weber’s ideal
type ?
(1) Ideal type is an analytical

construct to ascertain
similarities and deviations in
concrete cases.
(2) It is neither a statistical
average nor a hypothesis.
(3) It is related to moral ideals of
society. -
(4) There are three kinds of ideal
types based on their level of
abstraction.
(5) Question not attempted
Which of the following statements
is not in conformity with Weberian

relationship between religious
ideals and capitalism ? y
(1) Creation of wealth and

unrestricted spending helped
in reinvestment of capital.
The protestant interpretation
of profit making supports
business activities.
Standardization of production
~and specialized division of
labour were encouraged by

()

3)

protestantism.
(4) Growth of western capitalism
was not dependent on

protestant ethics only.
Question not attempted

®)

Which of the following is not a
characteristics of ideal typical
bureaucracy ?
(1) The offices are organized into
a hierarchical system.
(2) Each office has a set of
obligations to perform and the
authority to carry them out.
The office working is bound
by rules. '
Rules are not formulated.
Question not attempted

3

(4)
(5)
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92.

93.

94,

I 91. Which of the following statement is

not correct ?

(1) Matter is a product of
consciousness, not
consciousness is a product of
matter.

The dialectical system is
based on the law of negation
of negation.

Development is from simple
to complex.

Marx adopted the idea of
dialect from Hegel.

Question not attempted

@)

3)
@

()

Which of the following condition is
not essential to form a class, in
view of Karl Marx ?

(1) Science and Technology

(2) Physical concentration
masses of people

Essy communication among
them

Growth of class consciousness
Question not attempted

of
3

©)
(6)

Who distinguished between ‘class
in self’ and ‘class for itself’ ?

(1) Levi-Strauss

(2) Karl Marx

(3) Max Weber

(4) Ralph Dahrendorf

(5) Question not attempted

The spirit of capitalism is based on

(1) Rational economic pursuit

(2) Unwillingness to adapt to
new methods of work

(3) Personal relations

workers

Less work and more pay
Question not attempted

with

4

®)
a

£
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95.

96.

97.

98.

In which of his books Marx has
mentioned about historical
materialism ? :

(1) The Poverty of Philosophy

(2) Manifesto of Communist Party
(83) The Class Struggle in France
(4) The German Ideology

(5) Question not attempted

According to Marx, the nature  of
society depends upon

(1) Mode of production

(2) Forces of production

(3) Means of production

(4) Relations of production

(5) Question not attempted

Who among the following is not a
post-modernist thinker ?

(1) Jacques Derrida

(2) Michel Foucault

(3) Jean Baudrillard

(4) Ulrich Beck

(5) Question not attempted

Which statement is/are correct ?

A. The forces and relations of
production constitute the
basic structure, i.e. economic
structure of society on which
rise legal and political
superstructures.

B. The superstructures, i.e.
political, legal, religious,
philosophical and  other
institutions rest on the
economic base but they also
react upon one another and
upon the economic base.

A is correct but B is not.

B is correct but A is not.

A and B both are correct.

A and B both are not correct.

(1)
(2)
(3)
(4)
(5) Question not attempted
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99.

100.

101.

Which of the following is not
associated with modernization ?

(1) Agricultural economy -
(2) Rationalization

(83) Achievement orientation
(4) Industrialization and

Urbanization
Question not attempted

®)

Following are the characteristics of
Sanskritization described by M.N.
Srinivas. Which of them is not
included in his description ?

(1) Sanskritization is not
confined to Hindu castes.
(2) One of the function of

sanskritization process was to
bridge the gap between
secular and ritual rank.

This process resulted only in
positional changes.

When a caste has achieved
secular power, it is not
necessary to try to acquire the
traditional symbols of high
status such as customs,
rituals, life style etc.

Question not attempted

3)
@

(®)

Globalization is dialectical which
have both positive and negative
consequences. Which of the
following does not fit in its binary -

duality ?

(1) Universalization versus
Particularization

(2) Homogenization versus
Differentiation

(3) Centralization versus
Juxtaposition

(4) Integration versus
Fragmentation

(5) Question not attempted



102. Srefeh SHET I IeR-3MYf® FEp B | 102. Frederic Jameson associated post-

e modern culture with
s s aie | capitalism.
(1) <R (2) THIUHR (1) market
(8) UWNIEE  (4) wEUEHE (2)° monopoly
e (3) imperialist
®) i (4) multi-national
108. Sre=agaH ! auron fraa € ? (5) Question not attempted
1) st (2) e 103. Who has given the concept of
(3) w (4) W deconstruction ?
; : (1) Derrida (2) Godelier
®) o (3) Foucault (4) Lemer

104. Fr=fafea # @ o7 @, fifEm $ (5) Question not attempted

W,mﬁﬁm“ﬁ% ? 104. Which among the following is not

(1) Sy the ff,-ature - of S.apskritization
according to M.N. Srinivas ?

(2) &t moefier (1) Dominant caste

(3) 3w wd i wfF (2) Horizontal mobility

(@) feuefia when (8) Economic and political power

(4) Two way process

®) 3[35” SR . (5) Question not attempted
105, = ST R oo 7 105. Who preferred to call himself

(1) TR gt Marxiologist ?

@ hua g (1) Radhakamal Mukerjee

(2) G.S. Ghurye

(@ W e (3) M.N. Srinivas

(4) . gHsi (4) D.P. Mukerjee

(5) ARG TA l (5) Question not attempted

| 106. Which of the following is not an

106. 1 & 3 i a1 afeeienon i e T & 7 | attribute of Westernization ?

1) s gfb T e l (1) Ethically neutral

(2) e, e it agerda sma i B, e sa ey and

(3) 9§ HHEaETg 3R TFATG Hl 39 § | (3) It does not consider

afttrfera 78 =t | I humanitarianism and
; nationalism
(4) e - Fedehetr afdfm 2 | l (4) It includes secularization
(5) 3TgaRa S | (5) Question not attempted

=] 22 42
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107. Who has given the concept of

108.

109.

“Master Science of Society” in
India ?

(1) Radhakamal Mukerjee

(2) Auguste Comte

(3) Herbert Spencer

(4) G.S. Ghurye

(5) Question not attempted

Which among the following is not
G.S. Ghurye’s contribution to
Indian Sociology ?

(1) Ethnography Caste and Tribes
(2) Rural Urbanisation

(3) Social Tensions and Indian Art
(4) The Social Structure of Values
(5) Question not attempted

When communication flows
without a planned channel, it is
termed as

(1) Chain communication

(2) Written communication

(3) Horizontal communication

(4) Grapevine communication

(5) Question not attempted

110 Match the Part-A with Part-B :

Part-A Part-B
a. Caste Class i. Mukul
and Occupation Sharma
b. Caste Class and ii. G.S. Ghurye
Power
c. Caste Pride iii. Andre
Beteille
d. Caste and iv. Manoj Mitta
Nature
Codes:
ac i piatertiid
(D i i
(2)3.51 R P
60 ) R Ty R | ARRER 1
@ 1 nrea v
(5) Question not attempted
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111.

112.

113.

What is the primary purpose of an
Advance Organizer Model in
teaching ? :
(1) To assess
knowledge.
(2) To provide a cognitive map
that helps students to connect
and retain material.
To replace direct instruction
with self-learning.
To encourage students to
memorize facts before
learning.
(5) Question not attempted

student’s prior

3)
4

Which of the following are non-
projected two dimensional teaching
aid ?

A. Transparencies

B. Posters

C. Charts

D." Slide

E. Map

Choose the correct option :

(1) ABC @2)::B,C;D

3 AandE (40 B,Cand E
(5) Question not attempted
Which one of the following
statement regarding teaching

models is correct ?

(1) Advance organizer model is
used to develop personal
abilities and make people
understand the principles.
The  understanding and
cognitive aspects of concepts
and facts are developed only
through the inquiry training
model.

Concept attainment model is
primarily useful for the
development of inductive
reasoning and concept
development.

The information processing
model was developed by Carl
Rogers.

Question not attempted

@

3

4

()
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114.

115.

116.

Which of the following statement is
incorrect about software approach ?

(1) It is concrete in nature.

2) -1t suggests different
applications of theories of
learning.

Ita¥is concerned with
modification in behaviour.

It . is helpful in making
education more scientific and
psychological.

Question not attempted

3
4

®)

Which of the following is a simple
hardware with the help of which
opaque objects can be shown on the
screen ?

(1) Record player

(2) Epidiascope

(8) Overhead projector

(4) Magic lantern

(5) Question not attempted

The steps of Group investigation
method of cooperative learning are
given below :

A. Plan of action

B. Selection of problem

C. Information gathering

D. Preparation and presentation
of the final report

E. Analysis and synthesis of

data

The correct sequence of these steps
is

(1)
)
3)
(4)
(6)

B,C,AE,D
B,AE,CD
B,C,E,A,D
B,A,CED
Question not attempted
(= |



117. Feafafea & & #1910 FgR qers

118.

119.

A FT IR ?

(1)
@)
©)
4
®)

@-feha siftrm
it g

T S
Jrefa gEA
AN w9

Wmmﬁﬁaﬁﬁ(ﬁg)

%aﬁﬁﬁnﬁf@aﬁﬁaﬂqmww

TR

(1) ¥& FHERE B QT B F g

@)

&)
(4)
(6)

FE % Yo ) ST R |

g it nfa srftrmesat g0 Sl
B R |

Tt wfegfy ®1 yraEm R |
JTHITE T34 3 gHg SU SR &
FFTIRA T

Yot IURT % T frefirfea & & 99 |
AITHAA TGS ?

1

()

®

4
()

|
%mﬁﬁmmﬁ%m@

s IuHTT R |
9! Tpfd T 2 |

TEAFIR IR |

I qTfheh, SHafed AfhT FaR R |
JARA W91

|

26

117. Which of the following is an
advantage of computer assisted

118.

119.

learning ?

(1)
@)
3)
4
()

Self-directive learning
Limited experiences
Passive learning
Unstructured information

Question not attempted

Which of the following statement is
not correct about drill mode of
computer assisted learning ?

ey

@

@)

4)

®)

It adopts the pattern of
exercises to rectify the
weaknesses.

Pace of learning is controlled
by learner.

There is a provision of
feedback.

The exercise questions are

created at the same time.
Question not attempted

Which of the following statement is

incorrect for systems approach ?

(1)

@)
3
4
®)

It is an educational tool to

make efforts successful.

It is holistic in nature.

It is self-correctable.

It is logical, orderly but rigid.

Question not attempted
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120.

121.

122.

123.

124.

125.

Which approach is not used by
Yogendra Singh in his approaches
to the study: of society ?

(1) Functional approach

(2) Indological approach

(3) Culturological approach

(4) Structural approach

(5) Question not attempted

Who was the Founder-President of
Indian Sociological Society ?

(1) G.S. Ghurye

(2) R.K.Mukerjee

(3) P.H. Prabhu

(4) D.P. Mukerjee

(5) Question not attempted

Who of the following is not a
supporter of synthetic school of
thought ?

(1) Hobhouse (2) Sorokin
(8) Durkheim (4) Vierkandt
(5) Question not attempted

The first Department of Sociology
was established in 1919 in which
Indian University ?

(1) Calcutta University

(2) Lucknow University

(3) Bombay University

(4) Pune University

(5) Question not attempted

“Sociology is Science of Social
Groups”, who has said so ?

(1) George Simmel

(2) H.M. Johnson

(3) Auguste Comte

(49) Karl Marx

(5) Question not attempted

Which of these books is not written
by G.S. Ghurye ?

(1) Cities and Civilization

(2) Social Ecology

(3) Gods and Men

(4) Social Tensions in India

(5) Question not attempted
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126.

127.

128,

129.

130.

131.

Who among the following has used
subaltern studies to analyse history ?
(1) Yogendra Singh

(2) I.P.Desai

(3) Ranjit Guha

(4) Surajit Sinha

(5) Question not attempted

Which subject is known as Twin
Sister of Sociology ?. . ..

(1) Social Anthropology

(2) Political Science

(3) Economics

(4) History

(5) Question not attempted

Who has called ‘hyper-reality’ as
the characteristic of post-modern
society ?

(1) Daniel Bell

(2) Louis Dumont -

(3) Mike O’Donnell

(4) dJean Baudrillard

(5) Question not attempted

Who propounded the concept of
“Folk Society and Peasant Society” ?
M.N. Srinivas
Yogendra Singh
Milton Singer
Robert Redfield
Question not attempted

“Society is not confined to man.”
Who has said so ?

Maclver and Page

Horton and Hunt

C.H. Mead

Elliott and Merrill

Question not attempted

1. Among these which statement is
wrong ?

(1) Sociology studies the basic
characteristics of human
society.

Sociology studies all types of
behaviours of an individual.
Sociology - studies the social
behaviour of an individual.
Sociology studies the general
rules prevalent in society.
Question not attempted

(2)
3
(4)

®)
42
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132.

133.

134.

135.

136.

"Which of the following characteristics

does not belong to community ?
(1) Common land

(2) We feeling

(3) Common life

(4) Optional membership
(5) Question not attempted

Who has defined “Community is a
social group with some degree of
‘we - feeling’ and living in a given
area” ?

(1) Maclver (2) Ginsberg
(3) Bogardus (4) Davis

(5) Question not attempted

Which among the following is not a
distinctive feature of tribal
community ?

(1) Political organization

(2) Common territory

(3) Exogamy

(4) Common culture

(5) Question not attempted

Who wrote the book
Remembered Village’ ?

(1) M.N. Srinivas

(2) Yogendra Singh

(3) S.C.Dubey

(4) K.L. Sharma

(5) Question not attempted

Mention the name of the book of
S.C. Dubey based on the study of
Shamirpeth village.

(1) India’s Villages

(2) Indian Village

(3) Village India

(4) Village Life in Northern India
(5) Question not attempted

‘The

. Who wrote the book “Post Modern

Perspective on Indian Society” ?
(1) T.K.Oamen

(2) K.L.Sharma

(3) Andre Beteille

(4) S.L.Doshi

(5) Question not attempted
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138. Author of the book ‘Lonely Crowd’
is
(1)
(2)
3
4
(5)

Who classified social group on the
basis of ‘We feeling’ ?

(1) W.G. Sumner

(2) R.M. Maclver =

(3) R.K. Merton

(4) S.C.Dubey

(6) Question not attempted

Who among the following is
associated with ‘Reference group’ ?
(1) R.K.Merton(2) K. Davis

(38) A.W.Green (4) C.H. Cooley

(5) Question not attempted ‘

Which of the following type of

family was given by Burgess and

Locke ?

(1) Simple and Compound

(2) Equalitarian and Autonomic

(3) Institutional and
Companionship

(4) Nuclear and Joint

(5) Question not attempted

Who has said that the family is

“near the point of complete

extinction” in his book ‘The Coming

World of Transformation’ ?

(1) Alvin Toffler

(2) Ferdinand Lundberg

(3) Kingsley Davis

(49) William Wolf

(6) Question not attempted

Who has identified consciousness
of kind, social interaction and
social organization as the
characteristics of social group ?

(1) Giddings (2) Giddens
(3) Bierstadt (4) Ginsberg
(6) Question not attempted

G.C. Homans

Desmond Moris

Talcott Parsons

David Riesman
Question not attempted
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144.

According to Morgan, the family

-+ has gone through how many stages ?

145.
146.
147.
148.

‘ol fare HEE o weE IR W- | 149,
I
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(1).. Three
(38) Two

(2) Four
(4) Five
(5) Question not attempted

Who has propounded the theory of
‘Animism’ ?

(1) Emile Durkheim

(2) Max Muller

(3) E.B. Tylor.

(4) J. Frazer

(5) Question not attempted

Who is the author of the book
‘Hindu View of Life’ ?

(1) S. Radhakrishnan

(2) R.K. Mukerjee

(3) D.P. Mukerjee

(4) A.R. Desai

(5) Question not attempted

Which of the following is not the
form of Exogamy ?

(1) Class Exogamy

(2) Pinda Exogamy

(3) Gotra Exogamy

(4) Village Exogamy

(5) Question not attempted

Which of the following is not the
aim of Marriage ? :

(1) Sex satisfaction

(2) Reproduction

(3) Rearing of children

(4) Renunciation

(5) Question not attempted

Under which Section of PCMA
2006, “conducting a child marriage
is a cognizable and non-bailable
offence” ?

(1) Section3 (2) Section9
(3) Section 11 (4) Section 15
(5) Question not attempted

. Who has written the book “Hindu

Family in its Urban Setting” ?
(1) I. Karve (2) A.Ross
(8) ILP.Desai (4) K. Davis
(6) Question not attempted
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